MBOY «KapMéJmncxaﬂ COLID»
____cy00oTa 2 Heneust

I‘3 MJIaInue Beixon beakwu

MopxoBb cBexas 30
Tebrenn 90

ITrope ropoxoBoe ¢ 150/3
MacJIOM CJIMBOYHBIM
Yaii ¢ caxapom 200

Xi1eb MIeHnYHbIH 20
X1eb pxaHoiM 30
Bcero: 023
I'3 crapiune Boixop
MopkoBb cBeXKas 50
Tedbremm 100

ITrope ropoxoBoe ¢ 180/3
MAacCJIOM CIIMBOYHBLIM
Yaii ¢ caxapom 200

XJ1e0 e HuYHEbL
X7neb pkaHou

0,39
8.70
6.09

0.07
1.52
1.98
18,75
Beaku
0,73
10.67
7.81

0.07

Knpsi
0,03
10,46
8.26

0.02
0.16
0.36
19,29
Kupobi
0,05
14,62
926

0.02
0.24




